SIGNATURE PAGE

RFQ# F-29-2023

To the Board of County Commissioners of the County of Monmouth:

THE UNDERSIGNED HEREBY DECLARES THAT I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS. I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	Trap Rock Industries LLC		
	(PRINŢ)		
Preparer's Name:	Michael J. Crowley, Vice Preside	nt	
Signature:	Sulf hal (PRINT)	10/25/2022	
A 1.1		(DATE)	
Address:	PO Box 419		
	Kingston, NJ 08528	···	
Telephone No.:	609-252-8927		
Fax No.:	609-497-0135		
E-Mail Address:	trisales@traprock.com		
	(This should be the email where Contract	cts would be sent)	
Contact Person:	Mike Conti, Sales Manager		
FEIN:			
(Federal Employee ID)			

REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER MAINTENANCE MATERIALS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2023 THROUGH DECEMBER 31, 2023 (MONMOUTH COUNTY CO-OP)

RFB must be rece	ived no later than:	October 26, 2022 10:30AM	
For Delivery to:	Various Delivery Locations. See Details Below.		
Delivery Date:	1/1	/2023 - 12/31/2023	

ITEM#		QUANTIT	Y/UNIT	UNIT PRICE	TOTAL PRICE
DIVIS	ION OF HIGHWAY				
1	COARSE SAND GRITS	1,000	TON(S)	-	-
2	QUARRY BLEND (DIRTY STONE) 3/4" - 1 1/2"	530	TON(S)	\$28.50	\$15,105.00
5	CLEAN QUARRY STONE 3/4" - 1 1/2"	930	TON(S)	\$34.50	\$32,085.00
10	RIP-RAP 12" - 24"	250	TON(S)	\$55.00	\$13,750.00
SIVIC	ON OF ENGINEERING			· · · · · · · · · · · · · · · · · · ·	
13	QUARRY BLEND (DIRTY STONE) 3/4" - 1 1/2"	800	TON(S)	\$27.25	\$21,800.00
14	CLEAN QUARRY STONE 1/4" - 1"	250	TON(S)	\$33.25	\$8,312.50
15	CLEAN QUARRY STONE 1/4" - 1 1/2 "	50	TON(S)	\$33.25	\$1,662.50
16	CLEAN QUARRY STONE 3/4" - 1 1/2"	250	TON(S)	\$36.00	\$9,000.00
17	CLEAN QUARRY STONE 1 1/2" - 3"	150	TON(S)	\$36.00	\$5,400.00

REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER MAINTENANCE MATERIALS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2023 THROUGH DECEMBER 31, 2023 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
18	CLEAN QUARRY STONE 1 3/4" - 3 "	60 TON(S)	-	-
19	QUARRY / STONE DUST	80 TON(S)	\$28.50	\$2,280.00
20	RIP RAP, 4" - 8"	60 TON(S)	\$50.00	\$3,000.00
21	RIP RAP, 8" - 16"	60 TON(S)	\$50.00	\$3,000.00
22	DENSE - GRADED AGGREGATE (VIRGIN)	200 TON(S)	\$27.25	\$5,450.00
DIVISI	ON OF BRIDGES	And the second second	7.	
24	QUARRY BLEND (DIRTY STONE) 3/4" - 1 1/2"	100 TON(S)	\$27.25	\$2,725.00
28	CLEAN QUARRY STONE 1 1/2" - 3"	125 TON(S)	\$36.00	\$4,500.00
32	RIP-RAP 12" - 24"	500 TON(S)	\$55.00	\$27,500.00
33	JETTY STONE, 24" - 36"	300 TON(S)	\$70.00	\$21,000.00
			\$176 570 00	

TOTAL:

\$176,570.00

Various Delivery Locations:

REQUEST FOR BID

- This Is: Not An Order



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH AND DELIVER MAINTENANCE MATERIALS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2023 THROUGH DECEMBER 31, 2023 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	QUANTITY/UNIT UNIT PRICE	
Division of Engineering]		· · · · · · · · · · · · · · · · · · ·	
Public Works Complex	, Bldg. E			
240E Center Street				
Freehold, NJ 07728		•		
Ray Bragg 732-431-7	760 x3559	· · · · · · · · · · · · · · · · · · ·		

Division of Highway District #2 240C & 240D Center Street Freehold, NJ 07728 Cassandra Deckle 732-431-6550

Division of Highway District #4 2060 Hospital Road Allenwood, NJ 08720 Cassandra Deckle 732-431-6550

Division of Bridges Public Works Complex, Bldg. E 240E Center Street Freehold, NJ 07728 Tracey Halpin 732-431-6556

: Division of Bridges Public Works Complex, Bldg. E 240E Center Street Freehold, NJ 07728 Tracey Halpin 732-431-6556